OBJEM APOVRCH KUZELA A

AKky je obsah plasta kuzel'a?
1)

13.4cm

2 Ccm

A) 279.49 cm? B) 505.17 cm?
C) 237.61 cm? D) 252.58 cm?

Aky je povrch kuzel'a?

3)
12.4m
—_—
6m
A) 145.14 m? B) 346.83 m?
C) 138.29 m? D) 121.18 m?

Aky je objem kuzel'a?
5)

7cm

A) 81.8 cm? B) 65.97 cm?
C) 76.6 cm? D) 263.89 cm?

Meno:

2)

‘ 15.7 cm

A) 445.19 cm?
C) 355.93 cm?

4)

10.4 cm I[e cm

A) 168.47 cm?
C) 153.81 cm?

6) 24 m

A) 3588.68 m?
C) 3619.11 m3

Trieda:

B) 293.58 cm?
D) 345.26 cm?

B) 309.13 cm?
D) 126.29 cnm?

B) 2588.76 m?
D) 14476.5 m3
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2) D 3) A 4) D
6) C



